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CALCULUS 12 Practice Quiz - Sections 3.1 to 3.3  

1) Using the definition of the derivative, find )(| xf of 
32

1
)(

−
=

x
xf .  

Note:  No marks will be given if any other techniques to find derivatives are used.   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2) What is the derivative of the function in question #1 when x = 2.  

 

 

3) Given the graphs of )(xf , sketch a graph of )(' xf   

a)       b)  
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4) Find the derivative of the following polynomials.      
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         (use product rule for question “c” – please simplify)    ( please simplify) 

 

 

 

 

 

 

 

 

 

 

 

5) If 
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6) If 
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xf

++
= , find the equation of the tangent line at x = -2. 

 

 

 

 

 

 

 

 

7) At which point(s) does the graph of 
42

+
=

x

x
y have a slope equal to 2?   
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8) The cost, in dollars, of producing “x” units of a certain commodity is  

.00007.002.02920)( 32 xxxxC +−+=   

i. Find )101(C ′ .    ii.   Explain what  )(xC ′ means. 

 

 

 

 

 

 

 

 

 

 

 

  

9)  For the function 
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xf   , where is the function not differentiable?  Justify your answer. 

    


